Uniform in the multiple-decrement tables
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Let ,u(J) and ,u(T) be the constant forces of decrement:

1. Relate pr(]) and sp,(f).

') = g-s u

(™ _ =S uj(cr)

sPx

sPx
(1')

P9 =( p(r)) <f>

2. Change the ratio of us in the exponent to a ratio of gs.
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3. Dividing the first equation by the second.
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Uniform in the associated single-decrement tables
We can assume a uniform distribution for every decrement in the associated single-decrement tables.

The trick is to use the p,uY), = ¢,

e Ifthere are two decrements, then
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